RED 00'(#
R <
<

OVERHEAD MOLLE PANEL

(2018+ WRANGLER JL - 4 DOOR)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Overhead Molle Panel
(1) LH Mounting Bracket
(1) RH Mounting Bracket
(4) M8x1.25 x 80mm Allen Bolts
(4) M8 Lock Washers
(4) M8 Flat Washers
(4) M8 Flange Nuts
(4) M6x1.00 x 15mm Allen Bolts
(4) M6 Lock Washers

(4)

4) M6 Flat Washers

TOOLS REQUIRED

4mm, 5mm Allen Keys/Sockets
15mm Wrench
Ratchet

SKU # J166732-JL
Edited: 01/25/2022



’
REDROCK:
z

STEP1

Open the rear seating door and locate the (2) bolt holes in the roll bar. Using the appropriate
mounting bracket, secure the mounting bracket to the roll bar using (2) M8 x 80mm Allen bolts,
(2) M8 lock washers, (2) M8 flat washers, and (2) M8 flange nuts. Do not fully tighten the hardware
for later adjustments.

Repeat this step for the opposite side of the vehicle.

STEP 2

Lift the molle panel over the previously installed mounting brackets. Align the welded on M6 nuts
towards the bolt holes in the mounting brackets. Secure the molle panel to the brackets using (2) M6
x 15mm bolts, (2) M6 lock washers, and (2) M6 flat washers per side. Tighten all hardware to secure
the molle panel into place.

Installation is now complete.



	J166732-JL - RedRock 4x4 - Overhead Molle Panel (18+ JL 4 Door)-01
	J166732-JL - RedRock 4x4 - Overhead Molle Panel (18+ JL 4 Door)-02

